BMRF2020F FRRREURESHEEERE (RERBEHRF)

RERXIES 1% CE T T I A<
0270581 NMEE 5 I &R FRKE 926
0270086 BEaE = ;Y FRKE 86.8
0270196 =] T ik HRKRE 90.2
0270622 AEBE 5 & ZRFRE 89.1
0270503 RS = i HRKRE 86.9
0270491 s 4 ST ZmkE 90.9
0270410 FRRR A = AL FRKE 84.4
0270266 [ E 5 JIdE HIRFE 91
0270559 BRI z AT HRKE 90
0270612 PRI = = AL FRKRE 91.5
0270616 FRF R = T FRKE 88
0270535 B 5 = HRKRE 88.1
0270602 M8 5 Hif HRKRE 84.6
0270389 TR = & HRKRE 92.8
0270065 TEA = AT HRKRE 83.5
0270330 PN S i ZR HRKRE 84.6
0270560 ELEE 5 i ZR HRKRE 85.1
0270108 ¥ B 5 i ZR HRKRE 83.7
0270151 MEA = JIdE FRKE 88.8
0270596 MEF 5 & HRKRE 86.7
0270021 5 AR T = IR ZRFE 84.3
0270200 F&E = IR HRKRE 91.6
0270278 g3 B8 tZR HRKRE 88.6
0270349 HR = ST ZRFHE 88.9
0270627 HZH = ST HRKRE 90
0270114 ST s 4 HRKRE 921
0270202 SESH 4 ST Z kR 85.9
0270334 = xR 5 tZR FRKE 86.9
0270444 BIE 5 ;Y FRKE 922
0270315 ZFR = JIdE FRKE 86.1
0270467 B = IR HRKRE 85.7
0270045 FFH S & HRKRE 89.6
0270316 TRAER z HR HRKRE 83.6
0270230 At = ST HRKRE 87
0270397 HEE = AT HRKRE 87.3
0270057 HRET] = yible FRKRE 84.1
0270641 AT = ST HRKRE 93.1
0270569 AR z AT HRKRE 88.4
0270633 BENR z i HRKRE 84.1
0270610 FE = ST HRKRE 85.1
0270329 B = HR HRKRE 84.5
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RERXIES 1% CE T T I A<
0270584 BRI 5 & HRKRE 89.5
0270549 HIBUR 5 ST HRKRE 94.6
0270071 ZEAT = i ZRKRE 85.5
0270451 EWE z I HRKRE 89
0270381 EBEHE = i ZR HRKRE 92.4
0270408 £TH z I HRKRE 86.9
0270440 EEE z i HRKRE 86.1
0270475 I E % WZR ZRRE 86.2
0270165 FRERLE = Hiw HRKRE 91.2
0270058 BFE 5 HR HRKRE 84.2
0270068 B2 z IR HRKRE 88.7
0270268 VRS = tZR FRKE 85.2
0270469 ENF S IR HRKE 84.1
0270247 FHRR S IR HRKRE 84.5
0270098 =RE = IR HRKRE 88.4
0270504 E=EWE = AT HRKRE 85.3
0270259 ZiEiH 5 i HRKRE 87.6
0270495 e z AT HRKRE 84.1
0270634 ZEW = i HRKRE 83.8
0270347 KT &7 S AT HIRKE 91.8
0270625 WFE = ST = RFRE 93.8
0270118 XIE = & HRKRE 91.8
0270094 PR 5 IR HRKRE 93.6
0270456 PR = = HRKRE 84.6
0270239 pUEE = ST HRKRE 89
0270562 X B = z ST HRKRE 88.4
0270595 X R 5 thZR HRKRE 90.2
0270274 X Ezh = ST HRKRE 85.3
0270060 X Z 45 = HR HRKRE 85.5
0270214 pUERE z i HRKRE 85.9
0270510 AR 5 AT HRKRE 85.4
0270536 EeXE 5 4 HRKRE 90.5
0270287 R 16 1, = ST Z kR 92.8
0270055 TR = AT HRKRE 94.8
0270500 Tk S IR HRKRE 91.1
0270295 ELRE 5 HR HRKRE 88.7
0270303 e = T FRKE 84.1
0270082 R = tZR FRKE 93.6
0270453 =R = ST ZRFE 84.7
0270432 BRI S Hiw HRKRE 91.4
0270521 FF = HiR HRKRE 87.3
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kg S ) p RELZLES
| |

REHEEUS wa 4 51 =k Zik 251 (%4)100%)
0270338 =BF % s7dE ZREE 94
0270568 i 58 ST ZREE 88.6
0270061 i MR % ZH ZRRE 88.7
0270452 ARFREF % ST ZRRE 94.9
0270271 L tRIsIE 58 2 ZREE 94.4
0270497 Bf= 5 T ZRRE 89.5
0270511 AR T i ZRRE 84.8
0270658 s Emh 5 ST ZREE 90.6
0270100 eSS © A ZRFE 84.7
0270344 R, i 2 ZRFE 91
0270246 IR © IR ZRFE 85.4
0270639 PR % AT ZREE 86.4
0270032 HEE © sTdk ZRRE 85.2
0270160 EHEH % poilEs] ZREE 90.8
0270184 INESR 5 = ZREE 92.7
0270464 TR ER = ST ZRRE 92
0270254 NI BA TR 579 tZR =RRE 89.6
0270378 g7 © MBS ERERE 83.9
0270439 bk 5 Ak ZREE 83.9
0270171 HEELE 58 IR ZRRE 935
0270319 BEREE B i) ZRFE 86.9
0270031 SN % sTdk ZRRE 83.7
0270465 & 18 U % ST ZRRE 85.2
0270429 TiE 58 IR ZREE 91.1
0270530 FiEx 5 IR ZRRE 93.8
0270227 FER % ST ZRRE 87.8
0270168 F BN 58 sTdk ZREE 93.2
0270598 F kA % & ZRRE 85.8
0270049 FRFE % S ZRRE 83.8
0270075 F iR % AT ZRRE 91.1
0270030 F i % i) ZREE 90.7
0270146 TFEiE = HR ZRRE 86.2
0270167 F2uE % poilEs] ZRRE 84.4
0270348 ERES 58 ZR ZREE 85.2
0270193 FER = sTdk ZRRE 83.9
0270263 T 7K % HiR ZRRE 86.2
0270448 FFx 58 ZR ZREE 87.8
0270369 FTrHE 5 sTdk ZRRE 86.8
0270124 mH= 3 & ZRFE 93.6
0270580 BEZE 58 Ak ZRRE 84.2
0270626 TR © ;Y ZRFE 88.4
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RERXIES 1% CE T T I A<
0270553 i 5 T FRKE 89.6
0270486 m N S IR HRKRE 83.5
0270025 £ = ST ZRFE 85.7
0270119 R i S i HRKRE 89.2
0270041 R = ST HRKRE 91.5
0270026 N = = HRKRE 85.9
0270003 RTH z i ZR HRKRE 86.4
0270638 B 5 thZR HRKRE 88.9
0270107 B = i ZR HRKRE 87.5
0270023 Bk 5 & HRKRE 87.3
0270657 gl S IR HRKRE 88.2
0270493 T = ST = RFRE 84.9
0270543 RER S IR HRKRE 84.9
0270037 IRATEE 5 i) FRKE 85.2
0270019 A = i HRKRE 83.7
0270053 HE5F = IR HRKRE 90.2
0270482 BEIETF 5 MIE;N HRKRE 87.1
0270383 FERE z A4 HRKRE 89.6
0270290 WEE = tZR FRKE 87.5
0270586 WEE 5 & HRKRE 92.6
0270327 Wi 4 ST Z kR 89.9
0270351 R 5 4 HRKRE 89.4
0270027 M IE z & HRKRE 86.5
0270128 wfE 5 i HRKRE 89.1
0270405 KRR = ST HRKRE 84.3
0270342 FrmHk = i HRKRE 89.5
0270077 LRI = Hapic FRKE 87.3
0270531 RS 5 I &R FRKE 85.8
0270403 REH z ST HRKRE 93.8
0270056 RI, 5 i HRKRE 87.1
0270457 SN S = i ZR HRKRE 86.1
0270157 K EES z 4 HRKRE 90.1
0270006 KK 5 I &R FRKE 89.8
0270480 3K FF R 5 AT HRKRE 87.6
0270655 KB S e HRKRE 87.3
0270122 5k /< H z AT HRKRE 89
0270158 K I = e HRKRE 86.4
0270537 KEF = I FRKE 84
0270587 KEE = tZR FRKE 86.2
0270472 K = JdE FRKRE 86.4
0270390 3K &5 s AT HRKRE 93.3
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REREES  |t% T =S Ny
0270046 XER z IR HRKRE 85.3
0270550 XEE 5 ST HRKRE 84.7
0270062 kg ic! B8 ST HRKRE 88.4
0270262 Phm A 5 IR HRKRE 86.5
0270339 A= 5 i HRKRE 94.3
0270188 B&RF 5 i HRKRE 89.6
0270508 BAF+E z 4 HRKRE 84
0270371 A& = i HRKRE 83.7
0270340 BRiE 5 AT HRKRE 84.1
0270365 e} e z I HRKRE 85.2
0270656 KM 5 thZR HRKRE 88
0270411 E SRS 5 HR HRKRE 90.6
0270621 S| = ST HRKRE 86.2
0270375 KEn = T FRKE 91.7
0270298 K 1EIA = IR HRKRE 91.6
0270154 SRR =2 3 ZRKRE 92.6
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